Apartment in Gzira



Reference No: 240351001-56021

Gzira, Sliema and St Julians Surroundings



€271,500

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 128

Bedrooms: 2

Apartment - For Sale - Gzira

GZIRA - New on the market is this Apartment, which will form part of a smart new development, situated in the best area of this town, within walking distance from the University of Malta, and the Ta" Xbiex Marina. Layout comprises a kitchen/living/dining, two bedrooms, en-suite, and a guest bathroom. Property is being sold in shell form. Optional inter-connecting garages are also available.

Features

✓ Lift

Balcony

Rooms

Kitchen/Living/Dining: 4.5 x 8.5 m (38.25 m2)

Single Bedroom: 4.5 x 3.7 m (16.65 m2)

✓ Single Bedroom : 3.1 x 2.6 m (8.06 m2)

Bathroom: 3.2 x 1.8 m (5.76 m2)

Bathroom Ensuite: 1.4 x 3.3 m (4.62 m2)

Gallery





RE/MAX Malta - BDV Sales RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

RE/MAX Malta - BDV

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta